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MEIEIME K 57| szeee EHS(AE2HA)
25,245 25,245 -
25,245 25,245 -
O4ti2s 22 25,245
o 4UEE
(=TEE)IIHM4UEE 97,500 H& x 11 % = 10,725
(EYSH2)DI12ZH4UEE 20,000 ®HE x 11 % = 2,200
(FHZANIIREM4U 2 & 20,000 ®H& x 11 % = 2,200
(SELINII2ZHANEE 20,000 H& x 11 % = 2,200
(BED0B)IIZHHMAUIEE 72,000 ®& x 11 % = 7,920
4 =LK DH I 18,800 18,800 -
18,800 18,800 -
O &6 KXYl 18,800
°(ZE0B)JHIOIX RX 2= 18,800 A x 1 3 = 18,800
38,500 38,500 -
38,500 38,500 -
O A2 38,500
(+HEE) st=3l M 10500 && x 1 3 = 10,500
(FTEE) IIBIIEA N 2,000 =& x 2 3 = 4,000
(AEAP)E=US S 24,000 ®2 x 1 3 = 24,000
250,000 250,000 -
OQIZHAIE XIS 250,000
o5h28t LRSS HS L 253 AL 150,000 & x 1 3 = 150,000
(ZEEAM)SE M AR 100,000 2 x 1 3 = 100.000
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o = 0 &ty SIEL! :
M = A) () 5 2(A-B) SAS(UEZH)
g 5t Hsetar 50,000 50,000 -
=RE= 50,000[ 50,000 -
710 22012 50,000[ 50,000 -
722 CHE AL 50,000[ 50,000 -
201 L2 | 1,900 1,900 -
01 At 2r2|H| 1,900 1,900 -
O 3l 1,900
BEEL] 1008 x 19 2 x 1 & = 1,900
2 oft| 2,400 2,400 -
01 =LHoit| 2,400 2,400 -
O =Uoitl 2,400
- BB 49 x 100 @2 x 6 & = 2400
6 B AH 2| 45,700 45,700 -
01 BAI2 bl 45,700 45,700 -
O #AZ G| 45,700
o HAIZ S 45,700 & x 1 3 = 45,700
YO 95,000 95,000 =
700 AFRIHI 95,000 95,000 -
bl 95,000 95,000 -
722 h# AN B 95,000 95,000 -
201 L2 | 94,800 94,800 -
01 AtR2H2IH| 94,800 94,800 -
Ogeragt| 94,500
c NPBE #@8 x g - -
o ARBAMY] @8 x s -




L = 0l 4 o 71 o =
g e = M= (A) (B) = 2(A-8) SA=(LE2H)
o TAOIMHI 500 =& x 1 4 = 500
© REX AXEHY 15 @& x 300 H = 4,500
o AR 12 ®& x 3,000 Of = 36,000
o W 2 ®& x 3,000 Of = 6,000
o 24 Wl 2 ®& x 4,000 Of = 8,000
o o Mt 13 #& x 1,500 O = 19,500
© REX H9 AN 40 ® x 500 Of = 20,000
O 32| 300
° 3|2l 300 =& x 1 4 = 300
202 04l 200 200 -
01 2ot 200 200 -
O =0 bl 200
o 2UEH 200 ®& x 1 A = 200
Blue—Tourism S AIE2 =t HE = 50,000 50,000 -
700 AtHIE 50,000 50,000 -
710 ZHl 50,000 50,000
722 THR AL 50,000 50,000
201 Ler2 g 35,250 35,250
01 AtR2tel] 35,250 35,250
Oprs 29,800
S| 1 3 29,800
O=as 5,000
o X25lo &g 250 ®@ x 4 9 = 1,000
o =2UE AAE 5 & X 300 &2 x 1 & = 1,500
o =2YHE MAE 5 @ x 500 =& x 1 3 = 2,500
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L = 0l 4 o 71 o =
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012U oI bl 200 200 -
O =2Uoibl 200
- 2UHEE {9 x 5 &= x 4 & = 200
6 B AHZ 2| 3,150 3,150 -
01 A2 Y] 3,150 3,150 -
O A2 3,150
TR 3150 ®# x 1 A = 3,150
| BB A 11,400 11,400 -
13 JIE 24 3 11,400 11,400 -
OJIEt2 42 11,400
R 11400 ® x 1 A = 11,400
22u BELI2S MBS 55,000 55,000 -
bl S 55,000 55,000 -
SRR 55,000 55,000 -
722 H8 AL H| 55,000 55,000 -
201 Yer2gy) 55,000 0 55,000
01 At 22|t 55,000 0 55,000
Ogersgt) 54,100
o ARl 4100 ®8 x 1 B = 4,100
N 50000 % x 1 O = 50,000
0983 S 29+Y 900
. ARIBALY 3 x 150 ®™ x 2 & = 900




2= My 57 | B2ee S = (ME2H)
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O #AI2HYI 55,000
o St&EHS| JHE 55,000 & x 1 3 = 55,000
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710 2EHIE 50,000 50,000 -
50,000 50,000 -
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2,000 2,000 -
ORds s 28+< 1,400
o AlAIY 794 X 200 & x 1 3 = 1,400
O 2ol 600
o 3| 9lH| 34 X 200 &4 x 1 3 = 600
48,000 48,000 -
48,000 48,000 -
O HgdY| 48,000
o TR E A 48,000 &= x 1 3 = 48,000
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